Richard Kaufman

Homework #5 

Applied Math 1

Typed using MathType

THE FOURIER INTEGRAL AND FOURIER TRANSFORMS
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8.16]  
(a)  Find the Fourier transform of  
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(b)  Evaluate 
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8.18]  
(a)  Find the Fourier sine transform of 
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(b)  Show that 
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  by using the result in (a).


(c)  Explain from the viewpoint of Fourier’s integral theorem why the result in (b) does not hold for    
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PARSEVAL’S IDENTITY
8.21a] 
Evaluate    (a) 
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  by use of Pareseval’s identity.

[Hint (may apply to (a)).  Use the Fourier sine and cosine transforms of 
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8.23]  Show that 
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